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IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT THIS
TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS, ETC. IF
30, GETIT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate's responsibility to encode and darken the ROLL NUMBER, TEST BOOKLET
SERIES Code A, B, C or D and Question Booklet Number carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omissionfdiscrepancy will render the OMR Answer
Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in the Box provided below. DO NOT wiite anything
efse on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item shall have five options (A, B, C, D, and E). If a
candidate is attempting a question, he has to darken most appropriate circle from A, B, C or D. However if you
are not attempting a question then you have to darken the circle 'E'. If none of the five circle is darkened, one-
fourth (0.25) marks shall be deducted.

Any candidate not darkening any of the five circles in more than 10% question shall be disqualified.
All questions are compulsory. Each question carry one mark. For each wrong Answer, one fourth {0.25)
mark shall be deducted.

You have to mark all your responses ONLY on the separate OMR Answer Sheet provided. See directions in the
OMR Answer Sheet. Use only BLUE/BLACK Ball Point Pen to answer in OMR Answer Sheet.

Before you proceed to mark in the OMR Answer Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the OMR Answer Sheet as per instructions mentioned on the OMR Answer
Sheet.

At the end of the examination you should handover to the invigilator the original copy and office copy of the
OMR Sheet. You are permitted to take away with you the Question Booklet along with candidate’s copy of the
OMR Sheet.

10. Sheets for rough work are appended in the Test Booklet at the end.
11. In case of any ambiguity in translation of any question, English version shall be treated as final.
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1 Consider the following statements regarding Periodic Labour Force Survey (PLFS) Report:
Statement-I Current Weekly Status (CWS) in urban areas is measured at the interval of three months.
Statement-1I Present Labour Force participation rate (LFPR) and Unemployment rate is in declining
trend when compared with its base year 2017-18.

Which of the statements given above is/are correct?

(A) Statement I is correct only (B) Statement II is correct only

(C) Both Statement I and II are correct {D) Neither Statement I nor I1 1s correct

(E) Question not attempted

HTaitss dat ®i" 59 (PLFS) frai & ant § frafafaa syai v e i

FaA-1: gl s A BT fawpe wew (CWS) 9 WeM 3 Sa I 9mn T §1

FuF-11: A AT B T Eue ¥ (LFPR) ofR 0S5 3 519 38 e a9 2017-18 8 ger
%l SR &, 3 ae # 59 T a3

T o S FUA A | B A8 AT a9 3T ¢

(A) aw B [ T8 ¥ (B) %ad wuT [ 98 )
(C) =y 18 11 < |8 ) (D) = at wyA [ afie 1 & B 11 981 %)
€) sref@ue

2 Consider the following statements regarding recently released Reserve Bank of India regarding
Treatment of Wilful Defaulters and Large Defaulters Directions, 2023 -
1. The directions are applicable to all regulated entities including NABARD, SIDBI and EXIM
Bank.,
2. A wilful default borrower needs to be reviewed and finalised within six months of an account
being classified as a non-performing asset (NPA).
3. Lender cannot proceed against guarantor without exhausting the remedies against principal

debtor.
How many of the statements given above are correct?
(A) 1 only (B) 1and?2 only
(C) All1,2and3 (D) 2and3 only

(E) Question not attempted

fompa Rewieed SiiT el Rwieed sEE, 2023 & fadam & gy ¥ fod &% ow R & qremfos

T @ el Frafafea sa o e S

1. g oo fafrafia seeal NABARD, SIDBI ik EXIM &% afq ox @ 8 1

2. faagw fewive surtwal S aeiem Td sifod &9 @ & TA-—uHiiHT THE % w9 ¥ qEigd 59 $ 98 780
% iT B ST =T | (NPA).

3. XU Y& 3MaR ¥ faeg vt sura fey i et & frem wiean @ e g ¥

T T Sutie el ¥ 9 fead s e ¥ °

(A) e 1 (B) %aw 1 it 2
(C) =W 1,283 (D) FHaw 293
(E) ogaf@us
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3 Consider the following statements regarding the Scheme for Remission of Duties and Taxes on
Exported Products (RoDTEP):
1. It provides a mechanism for exemption of taxes, duties, and levies on exported goods.
2. The scheme is WTO-compatible and is being implemented in an end-to-end IT environment.
How many of the statements given above are correct?
(A) 1 only (B) 2 only
(C) Bothland2 (D) None
(E) Question not attempted
Frafa ST TT 9 61X H 3 BT A1 A 3 ey ¥ Frefanad wee T R S -
1. 3% Fera aegall o w0, JoR! ot @l A 92 % U 3F vae & 2|
2. e WTO-o8T & 6T & | 8d 9% AE 91ae § a0 &l T 5

f&m T SutET A W 9 P FeA R Y
(A) e | (B) %Fam2
(C) 123 (D) T 9 @ T
(E) srgafaned
4 Consider the following statements regarding Prompt Corrective Action (PCA) Framework:
1.  Currently PCA supervisory norms are applicable to both Government and non-Government
NBFC'’s.

2 Discretionary actions under PCA include Restriction on Branch Expansion
How many of the statements given above are correct?

(A) 1 only (B) 2 only

(C) Bothland?2 (D) None

(E) Question not attempted

Wire wifFed tayH (PCA) %oad o gefig Feefeiaa saai o foar sifo:

1. 39 A4 PCA wdda ares sl ofiY i—ae@ril NBFC a1 9 @F] 81 81

2 PCA % s fqased= sl A w1t & faare o iqay afafia §)

u o SuREd A Y W A mER wE E Y

(A) waw 1 (B) %aw 2

(C) 180T 23N (D) =99 ¥ HE TH
(E) orgafea wen

5 Consider the following statements regarding the Fugitive Economic Offenders Act:

1.  AFugitive Economic Offender (FEQO) is a person who has fled the country and against whom
an arrest warrant has been issued for involvement in economic offenses involving at least
Rs. 100 crores.

2. Under the Act, authorities are empowered to confiscate assets even when no conviction has
been obtained.

3. Fianaal Intelligence Unit 1s the nodal agency to implement the Act.

How many of the statements given above are correct?

(A) 1and2 only (B) 2and3 only

(C) 1and 3 only (D) Alll,2and3

(E) Question not attempted

WIRTeA SIS b= etem ¥ gafaa Freafafaa St ot e FiR

1. wIed swMas sifh=t (FEQ) 9% 2@ 311 €, 1 H9 T H9 6. 100 TS & SMHH 00y ¥ o
B ¥, TS BIFHT A A & 37T Forads Raams s arte il s #)

2. oftaEE % aed, WGl B SIurTE W T8 3 X 1 YR TS wE B QI SRl § 1

2

T e R givre srfufiem @ W e ¥ Ared T ¥

fu 7o St el W o T e R ¥ 7

(A) et 16T 2 (B) %aw 29T 3
(C) Haw 183 (D) 1,2&T3ad
(E) ogaf@us

31eny O 3 PT.O.



6  Consider the following statements regarding the Global Survey on Digital and Sustainable Trade
Facilitation:
1. It was released by the World Trade Organisation.
2. The overall score of India has been greater than many developed countries.
3. It is a bi-annual survey that deals with trade facilitation measures taken collectively by the
WTO member countries.
How many of the statement given above are correct:
(A) 1 only (B) 2 only
(C) Alll,2and3 (D) None
(E) Question not attempted
feforem it TeEw ¥ Biafresm o ew a9 @ gdfug Frafalaa saa1 o e it
1. 39 fas3 = @7 a1 S fean T am
2. YA H THY GhIT FE [ 39 O A §
3. % feanhtis w9 o WTO & 9eea 9 210 anied &9 & oy Mo s giaan surl & SaiE 81
T T Sute A ¥ O fead s e ¥ °

(A) e | (B) %Fam2

(C) 1,23Rr3eH (D) T 9 @I T (E)  srgated us
7 Consider the following statements regarding the Corporate Debt Market Development Fund

(CDMDF) :

1. It will be established as an Alternative Investment Fund.

2. Contribution to the fund shall be mandatory for specified debt-oriented Mutual Fund Schemes
and Asset Management Companies,

3. Imtially, it will be established for 5 years and can be extended as per SEBI’s mandate.

How many of the statements given above are correct?

(A) 1 only (B) 2 only

(C) Alll,2and3 (D) None

(E) Question not attempted

HATe T= AFe Taawe %3 (CDMDF) & getua fFrararad sl 1 faan sy

1. TH U S Mas i & T 9 1 S

2. Wi S-sifdes Regem e @y ofiT THe 8-e e HutEl & 0 59 % § TrEE sitar g

3. URWH, TO@ 'Y S a9 $ e @) St s @< (SEBI) % S ST 9T ST 99T S ST § |

T T SutE Al ¥ ¥ fead s g ¥ 0

(A) a1 (B) %aw 2

(C) 1,238T3adM (D) 779 T B T (E)  orafaws

8  Consider the following statements regarding the Foreign Portfolio Investment (FPI) in India:
1. It has fluctuated drastically in the past decade.
2. In 2022-23, the net FPI in India was less than 1% of the GDP,
3. Foreign Exchange Management Act, 1999 is the primary legislation governing FPI in India.
How many of the statements given above are correct?
(A) Only1 (B) Only 2
(C) All Three (D) None
(E) Question not attempted
A ® S TRl saeede (FPI) § getuq fFofaRan weei o faam ik
1 3o fred oo o Jede ¥ 8 SaR-—9%Td 3 ¢
2. 2022-23 ¥, AQ ¥ S THANE, STEM & 1% ¥ FY &M
3. I UaEeS A T, 1999 wra ® uhiend # Frba w5 e wmefte e F)
T T SutE el ¥ O fead s e ¥ °
(A) Fa | (B) %Fam2
(C) ot I (D) T Y T (E)  orafaws

31eny O 4 PT.O.



10

Consider the following statements in reference to the fertilizers sector in India:

1.  Sulphur-coated Urea, also commonly called Neam-coated Urea will help in addressing the
sulphur deficiency of the soil.

2. Fertilizer Flying Squads (FFS) was constituted to provide crop-wise recommendations of
fertilizers for individual farms.

How many of the statements given above are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 only (D) None

(E) Question not attempted

LA ® I9¢F &7 $ gl o Frfataa wuei 1) faam st -

1. GBS I B GHIT: M B IR Hi H31 11 5, A JaTH FE6L B HHI B G FHE § 7ES
HA &

2. i W e (FFS) & Toe w31 @i % 7 wamart sdis & ety & & i
e =T am

o o FuRiE U 0 Y fha meR A E 7

(A) e | (B) a2

(C) 132 (D) T 9 B T
(E) orgar@ us

Consider the following statements :

1.  International Financial Corporation is an organ of World Bank to finance private sector in
developing countries,

2. ICIMOD - International Centre for Integrated Mountain Development is an inter-government
knowledge and learning centre situated in Switzerland.

3. All India Rural Financial Inclusion Survey is conducted by Reserve Bank of India (RBI)
every five years.

Which of the above statement(s) is/are correct?

(A) 1and2 only (B) 2and3 only
(C) 1 only (D) All of the above
(E) Question not attempted

Fretferfirs et T3 R iR -

1. s feomira e fasy 3 o us o & i T fremasiiar 29 A Froit & o1 famifta & & foa &)
2 AEHRMEUASET — 3TTRYAE ¥ Wi 3TRIT AT Iaaud Razwtds 7 fea o
STTCTTHI T 3T Fyveror &z ¥

3. orfge wredE T fard e Ttern 7Y uie e o ford ¥ offw 3fean (smedeng) g feren s
%

U HUAI A | BT AYE )8 5/

(A) ®aw 1302 (B) %ad 293
(C) w1 (D) U 94l
(B) orafea ug
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11  Match the following List-I with List-II :

LIST-I LIST-11
1.  Absolute Advantage a.  Paul Rosenstein Rodan
2. Theory of Big Push b.  Adam Smith
3. Theory of low level Equilibrium trap  ¢.  Richard R. Nelson
4. Balanced Growth Theory d.  Ragner Nurkse
Choose the correct option :
(A) 1l-a, 2-b, 3-¢, 4-d {(B) 1-b, 2-a,3-d, 4-¢
(C) 1-b, 2-a, 3-c, 4-d (D) 1-d, 2-a,3-c, 4-b
(E) Question not attempted
Frrfefaa g2i-1 % gei-11 § fem St

-1 Ta-11
1. i a.  Uie QETEH U
2. e fagia b. usu Ay
3. Frawd gae o @ g c. T am s
4. wgfea faem famm d Ty
) Foed B
(A) 1-a,2-b,3-c, 4-d (B) 1-b, 2-a, 3-d, 4-¢
(C) 1-b, 2-a, 3-¢, 4-d (D) 1-d, 2-a, 3-¢, 4-b
(E) o ust

12 Consider the following statements :
1.  Gini Index 1s a graphical representation of the distribution of income or of wealth.
2. Higher the Gini Index, the greater the degree of income equality.
3

The value of Gini Index has increased amongst regular workers while it decreased among
casual workers in India as per India Wage Report.

Which of the statement(s) given above is/are correct?

(A) land2 {(B) 2and3

(C) 3 only (D) Alll,2and3
(E) Question not attempted

Preafirfiaa ol T forame e -

1. T Seom oma o1 o[ % faaqon & O miteea e § )
2. T geeis e sfas 2m, S |ean @ i 39 A orfes ERin
3. Efewr e Ruid & sigEr v W Prafa gt & 9 frl 3o o 9w 391 %, wats sretes gt

% 9 T T ¥
for T SodieR weel ® A w9 a@ R
(A) 13fT2 (B) 243
(C) a3 (D) 1,233 A
(E) orgar@ us

31eny O 6 PT.O.
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Which of the following features are associated with Regur Soils in India?

1
2.
3.
4,

It develops on crystalline igneous rocks as a result of intense leaching,

It is rich in Iron, Potash and Phosphoric contents.

It is typically found in north-west region of Deccan plateau and made up of lava flows,
It is rich in calcium carbonate, magnesium, potash and lime.

How many of the statements given above are correct?

(A)
(€)
(E)

1 and 2 only (B) 2 and3 only
3 and 4 only (D) 1,2and4 only
Question not attempted

Frafafea & o FE-d fadwa M ¥ PRy wEtm e ?

1.
2.
3

4.

Tz qra AT F i T TREsE g Tzl ax ot @i §)

IE AT, TR ST SIEhiTes arei § wWIgT Bnl 3

T Y9 TY Y T ST & J{—"1 & o Uil Sl & Sfi 9 Aramars ° S 26 E)
TAY FHleyrm FraH, A, T SfiT A1 T A= F A 9w |

T T Sute e ¥ O fead s e ¥ 0

(A)
(€)
(E)

e 1 37t 2 (B) %ad 2 9 3
e 3 8f 4 (D) WHaw 1,284

HAA T

Which of the following characteristics is associated with red and yellow soils in India?

1

2.
3
4

It develops on crystalline igneous rocks in area of heavy rainfall.

It develops a reddish colour due to diffusion of iron in crystalline and metamorphic rocks.
It develops yellow colour in hydrated forms.

It develops red and yellow colour due to iron and Sulphur in dry conditions.

How many of the statements given above are correct:

(A)
(©)
(E)

1 and 2 only (B) 2and3 only
3 and 4 only (D) 1,2and4 only
Question not attempted

et o & - fqgwand W@ o A A7 Gl 7o @ @EiE E 7

.h_bJMH

Te i oot T &= o foRtedta o 93! O faeiia g )

Te FFed™ ST FRANIET M1 9 S & (SRS % S0 A 31 S 8 A 81
T BT HiH A G 1 A A B

Te i Rl STt ofit TR6T % HTEoT A ST g 1 Wt €

ﬁqwmﬁaﬁmaﬂ‘rﬁﬁﬁmﬁiﬁmaﬁ%?

(A)
(€)
(E)

31eny O
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15  Consider the following statement : There is renewed thrust on production of Millet Crops. Which
of the following statement(s) is/are attributable to Ragi Crop?

1. Ragi is rain-fed crop and mostly grows well in black soil.

2. Ragi grows well on red, black, sandy, loamy and shallow black soil.

3. It is crop of dry regions and rich in iron, calcium and roughage.

4. Karnataka, Tamil Nadu, Jharkhand, Rajasthan and Arunachal Pradesh are major ragi producing
states.

How many of the statements given above are correct?

(A) 1and3 only (B) 2 and 3 only

(C) 2,3 and 4 only (D) 1,3 and 4 only

(E) Question not attempted
Frfafga wua uT e IR : e waa % IaEA T st S T )
Freffia o @ @F—a/a $u Wi vow 9 gEfim A 7

1. 0 S BEE § o Sear S ga1 ¥ o § 96 &
2. TN AR, FE, T, T SR IR Hr g1 | o | gl §
3. U % & % e © A A, HRerEd ST senst (TES) | W B B
4. WD, AUTAIE, ATEE, TR ST AEIMEA T T SQEA & T8 T4 2
T T Syt Al ¥ 9 fead s e v 7
(A) +haw 16Tl (B) %aw 29T 3
(C) waw 2,3 w4 (D) %aw 1,334
() e ue
16  Match List I with List 1T :
List I List I1
a.  Endangered Species 1 Desert sheep and hornbill
b.  Vulnerable Species ii.  Blue Sheep
c.  Rare Species ni. Lion Tailed Macaque
d.  Extinct Species iv.  Pink headed duck
Choose the correct answer from the options given below:
(A) a-im, b-i, c-iv, d-ii (B) a-iii, b-ii, ¢c-1, d-iv
(C) a-ii, b-1, c-iv, d-iii (D) a-iv, b-iii, c-i, d-ii
(E) Question not attempted
T 1 o1 forerr g 1§ aif
G| T I
a. Taegewm: st IO IR LRI EK|
b. g gmid i s
c.  ZEW e iii. @IET oA b
d faq =k iv. T R A T
e R o fawed ® | T2 SO @ 99T By
(A) a-in, b-i, c-iv, d-ii (B) a-iii, b-ii, ¢c-1, d-iv
(C) a-ii, b-1, c-iv, d-iii (D) a-iv, bAiii, c-i, d-ii
(E) e ue

31eny O 8 PT.O.



17  Match List I with List IT :

List 1 List I1
a.  Iron ore Mines 1. Balaghat
b.  Copper Mines 1. Amarkantak Plateau
¢.  Bauxite Mines ni. Gua and Noamundi
d.  Mica Mines iv.  Nellore
Choose the correct answer from the options given below:
(A) a-ii, b-ii, ¢-i, d-iv (B) a-ii, b-1, ¢, d-1v
(C) a-in, b-i, ¢-ii, d-iv (D) a-i, b-iii, c-iv, d-in
(E) Question not attempted
T 1 1 frer g 11 & i

T 1 T
a.  WIE o @A i S
b. adRBEA ii. T EHeE TN
c  A(FAEE B WH i e oK A
d  o¥® B @e iv. AR
e fow T faedl & o TR ST 99 FI
(A) adiii, b-ii, c-i, d-iv (B) a-ii, b-i, cHiii, d-iv
(C) adiii, b-i, c-ii, d-iv (D) a-i, b-iii, c-iv, d-ii

©) ot

18 Consider the following statements:
1.  Copper, Lead, Tin and Bauxite are non-ferrous minerals.
2. Manganese, Iron, Cobalt and Mica are ferrous minerals.
3. Potash, Marble and Granite are non-metallic minerals.
4. Nickel, Cobalt and Platinum are precious metals,
How many of the statements given above are correct?

(A) 1and3 only (B) 1 and 4 only
(C) 2 and 3 only (D) 2,3 and4 only
(E) Question not attempted

i wuAi T R St

1. qfan, 9, e ot araumse sidE | 31
2. AT, i, Biawe A uE B g )
3. UEW, AEE ST IR Senad aihe § )
4 e, Hawe A Wi 9ge 99y ¥

T2 T FuRiE oA 0 Y fha meR EE E 7

(A) “haw 1aiT3 (B) %aw 1afT4
(C) &awm 233 (D) %aa 2,394
(E) rgarea ues

31eny O 9 PT.O.
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Consider the following statements :
1.  Kandla port also known as Sardar Patel Port is a tidal port.

2. Marmagao port is for the premier Iron ore export.

3. Chennai is one of the oldest artificial ports of the country.

4. Paradwip port specializes in the export of Mica in the country.
How many of the statements given above are correct?

(A) 1and3 only (B) 2and3 only
(C) 3 and 4 only (D) 2,3 and4 only
(E) Question not attempted

fratafaa sat vt foame Fifm:

1. H3E 9, 9ER 929 U % T § o SET A0 2, T8 U SO IS §
2. 9IS IE0NE WE A w9 fFrafa & fae )

3. OTE 39 % IUA PO TR | ¥ S F)

4, UNTEY TECNE 390 § TEH & Faa & e s s $)

T T Sute el ¥ O fead s e ¥ 0

(A) +haw 16Tl (B) %aw 2 a3
(C) waw 3 &4 (D) %Faw 2, 334
(E) orgar@ us

Consider the following statements relating to our Solar System :

1 Saptarishi forms part of constellation Big Bear.

2 Saptarishi forms part of the constellation Ursa Major.

3. Asteroids Belt lies between orbits of Mars and Earth.

4. The largest asteroid is Ceres.

How many of the statements given above are correct?

(A) 1and?2 only (B) 2 and 3 only
(C) 3 and 4 only (D) 1,2and4 only
(E) Question not attempted

FAN 9K Aea ¥ T Frafaiaa s o R S

TR T et armvea @ e a9 E)

TN ITAT HSTT ATATSH HI Fewam qama &

I YT HI ST e DI HeTA & A Rerd ¥

TE 21 geas ’Y (Cere) ¥
ﬁqwmﬁaﬁmaﬂ‘rﬁﬁﬁmﬁiﬁmaﬁ%?

(A) &aw 132 (B) %ad 2 9 3
(C) waw 3 &4 (D) %Haw 1,234

€) oo

R N

31eny O 10 PT.O.
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Match List I wath List IT :

List I
a.  Shipki Lake
b.  Lipu Leke
c. JelepLa
d Burzil

i.
ii.
iii.
iv.

List II

Kashmir
Himachal Pradesh
Uttarakhand
Sikkim

Choose the correct answer from the options given below:

(A) a-iii, b-ii, c-iv, d-i

(C)  a-iii, b-ii, ¢-i, d-iv

(E) Question not attempted
Tt [ o1 e it 11 @ i
T 1

faradt s

ferg i

AAT T

B

I fim o et ® & T ST B AwA i
(A) a-iii, b-ii, c-iv, d-i

(C) a-iii, b-ii, c-i, d-iv

€) ot

e o o

Match List I with List IT ;
List 1

a.  Copper and Nickel

b.  Chromite and platinum

c.  Phosphate

d Limestone

Choose the correct answer from the options given be

(A) a-ii, b-i, c-iv, d-iii

(C) a-iii, b-iv, c-ii, d-i

(E) Question not attempted
T I o1 e g 11§ i
LU

atar &t free

HFEE 3T e
TR

AT eI

e o o foemedt § @ 98 ST B O Pt
(A) a-ii, b-i, c-iv, d-iii

(C) a-iii, b-iv, c-ii, d-i

(E) oraia us

g O\ T

31eny O

11

(B)
(D)

i
iii.
1v.

(B)
(D)

1.
ii.
iii.
iv.

(B)
(D)

ii.
il
iv.

(B)
(D)

a-ii, b-iii, c-v, d-1
a-iil, b-i, c-ii, d-1v

TR II
HIHT
femmam waar
ITATET
fafrea

a-ii, b-iii, c-1v, d-i
a-iii, b-1, c-1i, d-1v

List 11
South-Africa
Ontario
Caucasus
Algeria

low :

a-i, b-1i, c-iii, d-1v
a-iii, b-1,c-i1,d-iv

¥ 11
B B PG|
ATl
HIH T
CIEIER |

a-i, b-1i, c-iii, d-1v
a-iii, b-1,c-i1,d-iv

P.T.O.
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Match List I with List IT :

List I List 1T
a. Veld 1 Brazil
b.  Pampas ii.  South—Africa
c. Compos iii.  North—America
d.  Prairie iv.  South-America
Choose the correct answer from the options given below:
(A) a-ii, b-i, c-iv, d-iii (B) a-iii, b-iv, c-i, d-ii
(C) a-tv, b-ii, c-mi, d-i (D) a-ii, b-iv, ¢, d-mi
(E) Question not attempted
gt 1 o1 forer g 11§ aif

LU 11
a. U i e
b Ywm ii.  sfor—aries
c.  HHe iii. SAT—ATH
d wl iv.  SreT—amiE
e fow T faedl & o TR ST 1 T4 FC
(A) a-n, b-1, ¢-1v, d-iil (B) a-iii, b-iv, ¢-1, d-11
(C) a-iv, b-ii, c-iii, d-i (D) a-ii, b-iv, c-i, d-iii

€) ot

Consider the following statements :

Statement-I : The Jet Streams are the strong cores of upper-level westerly winds which follow
a meandering path.
Statement-II:  The term ‘jet stream’ was first applied to high velocity upper-level winds during

World War-11.
How many of the statements given above are correct?
(A) Statement-I and Statement-II both are correct.
(B) Statement-I is correct but Statement-II is incorrect.
(C) Statement-I is incorrect but Statement-II is correct.
(D) Statement-I and Statement-II both are incorrect.
(E) Question not attempted
Frafatas syl T faar i
FA-L Sz T Sl T Ioar sds & A9d ST &, S o ag w1 Sm H 8 |
TE-1L S T o= # oo g5-11 % A 9od AT HIU W Faoi & g g are v et e
g1l
T T Sutie FuAl ¥ 9 fead s e ¥
(A) w1 ST wam 1131 a2 ¥)
(B) & [ T8 F Afp ®oa 11 7eq &)
(C) ¥ 17eiq & Wi ®em 11 |& 7
(D) e 180T w11 3 7o €

®) s

31eny O 12 PT.O.



25 Match List I with List IT :

List I List IT
a.  Mountain Breeze i Sahara Desert
b.  Chinook ii.  Katabatic
C. Simoom iii. Snow Eater
d Sirocco iv.  Asiatic and African Desert
Choose the correct answer from the options given below :
(A) a-ii,b-11,¢-1v,d-1 (B) a-ii,b-ni,c-1v,d-i
(C) a-i,b-1,¢-11,d-1v (D) a-1v,b-i,c-11,d-1i
(E) Question not attempted
gt 1 o1 forer g 11§ aif
T 1 w11
a  UEd §HR i e AEeE
b. & (T) ii. HeEfew
. famm i, wix
d.  Fad=n iv.  TREE ST SR aeem
o fow o faemedt § @ 99 ST B O Bt
(A) a-iii,b-ii,c-iv,d-i (B) a-ii,b-iii,c-iv,d-i
(C) a-iii,b-i,c-1i,d-iv (D) a-iv,b-i,c-iii,d-ii

€) ot

26 Match List I with List II

List I List I1
a.  Angel Falls 1. Venezuela
b.  Yosemite Falls ii.  Califorma
¢.  Niagra Falls ii.  South Africa
d.  Victoria Falls iv.  USA and Canada
Choose the correct answer from the options given below:
(A) a-i, b-ii, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iv, b-iil, c-i, d-ii
(E) Question not attempted
T 1 1 e e 1LE it

LU 11
R [ L i oS
b IR TIE ii. i
c. Tramm U i, 3feror stftpat
d Tyt gaa iv. qUE T FE
e fam o foemedt § @ 8 AR 1 99 SR
(A) a-i, b-ii, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iv, b-iil, c-i, d-ii

(B) e we

31eny O 13 PT.O.



27  Match List I with List IT

List I List I1
a.  Bird Foot Delta 1 Mackenzie
b.  Estuarine Delta .  Mississippi
c.  Triple Delta iii. Mahanadi delta
d.  Arcuate Delta iv.  Nile Delta
Choose the correct answer from the options given below :
(A) a-i, b-ii, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv
(C) a-ui, b-1v, c-1, d-ii (D) a-iv, b-m, ¢-ii, d-1
(E) Question not attempted
gt 1 o1 forer g 11§ aif

w1 T I
a g i L e
b.  TgUIF T i fEhfaf
c. fTruw 3w iii. werar e
4 om T v, A
e fow T el & o TR ST T4 FAC:
(A) a-i, b-ii, ¢-iv, d-iil (B) a-ii, b-1, c-inn, d-1v
(C) a-ui, b-1v, c-1, d-ii (D) a-iv, b-in, c-ii, d-1
(E) orgar@ us

28  Consider the following statements:

Statement I : The ancient Buddha (Bauddh) Stupa is situated on the west side of Brahmasarovar.
Statement II:  The mound is spread over an area of approx. three acres. The height of the mound

is about 4 m from the surrounding ground level.
In the light of the above statements, choose the correct answer from the options given below:

(A) Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for
Statement-1.

(B) Both Statement-I and Statement-II are correct but Statement-II is not the correct explanation
for Statement-I .

(C) Statement-I 1s correct but Statement-I1I 1s incorrect.

(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted

Frafafea el wT e #ifta:

HT [ U A W0 FEEE] S Gt R H Rua 7

Fu 11 . A1 T A UFS W o7 ¥ | AT STEur B S &Y T 4 m B S 9|
IR AL B AF T TE Y, A 2w e e § 9 98 oa w99y S|
(A) T HYA-1 307 Bya-11 981 € qu1 Faa-11 S9-1 B T8 WHE T §1

(B) Il wuA-1 307 Ba-11 981 ¥ afee sam-11 Bae-1 1 921 T 1@ 21
(C) ®eA-1 T % Al TeA-11 7o ¥

(D) w¥A-1 Tad § AfET FaF-11Eer F)

(E) o ust
31eny O 14 PT.O.
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Consider the following pairs:

1.  Aram-i-Kausar : Narnaul 2. Tomb of Sheikh Tayyab : Kaithal
3. Bhai ki Baoh : Meham(Rohtak)

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs {D) None of the pairs

(E) Question not attempted

Frafafga gt ox fEr #ik:

1. SUTH-T—HER : AE 2. @ du W =9ui e

3. 9 @ e AEn(AEaE)

S g A A P g W gAR 7

(A) ww uH g™ (B) FEa g™

(C) i deti g (D) TWABEMgHTEH (B)  oreive

Consider the following statements about Bhumia or Khera:

I Itis the god of the homestead or the village.

II. Bhumia is worshipped at the time of marriage.

. First milk of cow or buffalo is always offered to Bhumia.

How many of the statements given above 1s/ are correct?

(A) Only one statement is correct. {B) Only two statements are correct.
(C) All three statements are correct. {D) None of the statements is correct.
(E) Question not attempted

T 1 @ A ¥ Frefaiaa sl ot faar Aif:

I % 3AES 97T F 3T 2

I sifern @ gon feme & @9 &1 S €

NI g a1 9 B 9sa1 g9 U R B FANa fea ST s

f¥m o St Bl A @ fhan B Ei R Y
(A) Had TH B TH F) (B) &aw 2 HYE W T
(C) = A e | ) (D) IEHFRATETAS (E) SFaraus
Match List I and List II:
List I List II

a.  Ghethi 1. Milking animal
b.  Laggar 1. Quter house
¢ Basan . Neck
d.  Nohra iv.  Pitcher
Select the correct option from the following given options:
(A) a-, b-ii, c-iii, d-iv (B) a-iii, b-i, c-iv, d-ii
(C) a-iv, b-i, ciii, d-ii (D) a-ii, b-iii, c-iv, d-i
(E) Question not attempted
T4 1 1 g 11§ e st

I ¥ 11
a. 931 (Ghethi) i 3 gEnay
b. «FR (Laggar) i, sE{E
¢c. @@ (Basan) iii. W
d.  ¥Eu (Nohra) iv. T
e e o el § A @RI ST B wE Hitn:
(A) a-1, b-ii, c-iii, d-iv (B) a-iii, b-i, c-iv, d-in
(C) a-v, b-i, c-iii, d-ii (D) a-ii, b-iii, c-iv, d-i
€) s

31eny O 15 PT.O.
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Consider the following statements:

1. The finest and the best preserved Baoli in Haryana is in Meham.

2. The coin moulds of the later Youdheyas of the third-fourth centuriesA.D. have been found in
large numbers from Rohtak.

3. Animage of Kartikeya sitting in lalitasana on a peacock has been discovered from Khokrakot.

How many of the statements given above 1s/ are correct?

(A) Only one statement is correct. (B} Only two statements are correct.
(C) All three satatements are correct. (D) None of the statements is correct.
(E) Question not attempted

Frafateaa wuAil 1T frar #if:

1. i ¥ Jeade o 9ag g Qe 789 | §)
2. Al aarst §. % 9% # Al & el & ar Tede | St g g ¥ |
3. AR Aare ¥ 8 Hiiied B R B @ @ibree § B T ¥

T T SuRre Ul A U fhan R TR R D

(A) aw TE BUE T ) (B) Fad A HYA W )
(C) @1 A B | ¥ (D) B AT HuT | TR B
(E) orgar@ us

Consider the following Statements:
Arrange the following intangible cultural heritages in order of their year of induction into the
UNESCO heritage list (Oldest to Newest):

1 Kalbelia

2 Budhist Chanting
3. Ramlila

4 Kumbh Mela

5. Nowrouz

Choose the correct option from the following:

(A) 3,1,2,5,4 (B) 1, 5,
(C) 3,4,5 2,1 (D) 2,1,3,4,
(E) Question not attempted

Frafafaa Heal ux fommt #ika:

et o TR aiEd @1 @ (UNESCO) st gt § wagr ¥ = % % ¥ (g & 7o)
Fftad Hifer:

EaREINE

g FaAreaT

THAAT

EREE

. e

Frerferfiae & w1 oo a1

(A) 3,1,2,5,4 (B) 1, 5,
(C) 3,4,5 2,1 (D) 2,1,3,4,

©) sgefue

R BN\ 5

31eny O 16 PT.O.
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Consider the following statements:;

Statement 1 : A raga is associated with a specific mood, time of the day and season. For every
raga there are six female consorts called raginis.
Statement II . Ragamala paintings are pictorial interpretations of ragas and raginis.

How many of the statements given above are correct?

(A) Both Statement I and Statement II are correct,

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct but Statement II is incorrect.

(D) Statement I is incorrect but Statement II is correct.

(E) Question not attempted

Freffaa weai W faar Sk

FuA 1 7y fafdre A, R % T ofie Hiem | Tafa ¥) v T & fe s gl s 6 ® R
TR %81 ST %)

w11 . Tearar Ut vy ofR v a0 e faae &)

forw T SwR Bl § @ fRaR wR T ¥ 7

(A) ®A-1 3T HuA-11 T T8 E |

(B) HA-1 i BIA-IL 2H1 7o £\

(C) ®eA-1 T % Al TeA-11 7o &

(D) -1 794 & AR FaA-11 & §)

(B) e we

Consider the following statements:

1.  Aditya-L1, a space observatory with 9 payloads designed to study the Sun.

2. The VELC will take image the Sun’s atmosphere, the Corona at high resolution and time
cadence.

3. Aditya-L1 carries an ultraviolet imager, 3 X-ray spectrometer and four in -situ instruments to
measure plasma parameters.

How many of the statements given above are correct?

(A) Only one statement 1s correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

Frafataa Heal ux fommt Ak

1. 9 UwISH % W afeca-L1, Siafia TasTer o o & e w3 & forg fesme foman m 31
2. VELC g3 % ui¥vsd, 3o (g ST 259 $T 9T HIA1 B B 7|

afea-L1 = o et @ Ao ¥ o o stegramice 3AeTL, 3 Taa— et ot a3
SUHETON B T fpar ¥

& T Sutem e A @ R s e ¥ 0

(A) Waw TH B T ) (B) ad A HuA WE )
(C) @1 A e | ¥ (D) B AT Huw | TR B
(E) orgar@ us

31eny O 17 PT.O.
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Consider the following pairs :

1. CREST: Hosakote

2. Solar Observatory: Kodaikanal

3. Radio Observatory: Gauribidanur

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C)  All three pairs {D) None of the pairs
(E) Question not attempted

FrafaRaa gl o Rt Fif:

1. % (CREST) : @& (Hosakote)
2. G U : wegEe (Kodaikanal)
3. Yfsan Jugmen : e (Gauribidanur)

T Y A A R g g ¥ 7

(A) e TF g B) awd gm

(C) @i el g (D) FHEDE WgH T (E)
Consider the following pairs :

1. Intelligent Waterbody Management Project : Tamara

2. AMRUT 2.0 : Preserving surface and ground water bodies
3.  PLASHBOT : Diffuser Aerators for bottom of water bodies
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C)  All three pairs {D) None of the pairs
(E) Question not attempted

FrafaRaa gl o R FifT:

1. T aREsl e geiee  aurer (Tamara)
2. SMEA2.0  HE ST o Ml & ST
3. PLASHBOT : aRY 9iftes1 & I« & o famres aae

e g A A Prad g g ¥ 7
(A) e UH g™ (B) FawaAgw
(C) =i Al g™ (D) sHEBR AFHTH (B

Consider the following pairs :
1. Advika : Chickpea
2. Panchamrit : India’s Climate Action Plan

3. Mission Life : Life Style in harmony with ecological well-being
How many of the above pairs are correctly matched?

(A) Only one pair {B) Only two pairs
(C)  All three pairs {D) None of the pairs
(E) Question not attempted

frrfaRes gt 9x femam it

1. ifzer (Advika) @ faewdy
2. w=mga (Panchamrit) - WA I FAEHE TEH WH
3. M LiFE : wiitRufams weamn & are s 8 S dei

YR I H W Rpad g wE gAtea § ¢

(A) ww uH gH (B) FEaa g™

(C) =il g™ (D) sHEBR AFTHTH (B
31eny O 18

AT W

HAA T
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Consider the following pairs :

1. BHARAT: Agri Infra Fund

2. Longpi pottery: Chhattisgarh

3. Sulur Bamboo Wind Flute: Manipur

How many of the above pairs are correctly matched?

(A) Only one pair {B) Only two pairs
(C) All three pairs D)  None of the pairs
(E) Question not attempted

Freaferfies gt e frare oo

1 9td (BHARAT) : Tl 3361 %3
2. Wi PR TG
3. g9 aig (Bamboo) fds w2 : AT

IO O °§ 9 ha g we gufaa ¥ ¢

(A) %9 TH gH (B) ®am I g

(C) @i el g (D) T & 15 i g TR
(E) orgar@ us

Consider the following statements relating to free coaching scheme under the umbrella scheme
‘SHREYAS':

1. It provides coaching of good quality for economically disadvantaged SCs, OBCs and
Minorities.
The ceiling of total family income under the scheme is Rs 8 Lakhs per annum.

3. The ratio of SC and OBC students is 70: 30 and 30 percent seats are reserved for females in
each category.

4. The ratio of SCs, OBCs and minority students have been fixed at 50 - 30 ; 20.
How many of the statements given above are correct?

(A) 1,2 and 3 only (B) 1,2 and 4 only

(C) 2 and 3 only (D) 2 and 4 only

(E) Question not attempted

‘SHREYAS’ S/osi@ ASM1 % q8d I HIFRT a1 o Wafaa Frafaiaa so ax faame Hifta:

T% ontd® = o dfad va o, off f @ SliR srwTEEEe! B ST o B R wEH w6 fe E
TISHT & TEQ AT H FA 37T H Iodqq Y1 yiaay &, 8 g 2|

T ST AT A E TR e 70: 30 ¥ of T wle Soft A 30% i wiknst & g sk €
T A, o A & SR sreweEs ey @ s 50 0 30 0 20 % 'y A fraffa e ¥
ﬁqwmﬁaﬁmaﬁrﬁ@rﬁmﬁwaﬁ%?

(A) Haw 1,233 (B) Faw@ 1, 20T 4

(C) +haw 2 9T 3 (D) Faw 2 &t 4

(E) orgar@ us

.h_bJMH

31eny O 19 PT.O.
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Consider the following Statements relating to Pradhan Mantri Jan Dhan Yojna (PMIDY). It is
intended to -

1.  Provide access to financial and social services at an affordable cost.

Use of technology to lower cost and wider reach.

Opening of basic saving bank deposit account in camp mode with minimum balance of
Rs. 500 and zero charges.

4. Issuance of Indigenous Debit Card.

How many of the statements given above are correct?

(A) 1and3 only (B) 1 and 4 only

(C) 2 and 4 only (D) 1,2,3and 4

(E) Question not attempted

TIFHE 59 99 A (PMIDY) § e Frafafaa e ot famm Sk

1. TO% 35T TR ST |TiTs Saie &) a e Jw Ut USH SO § |

2. @R @ T A S e wge a SeEn )

3. dudE A gAaH a9E T, 500 oY [ 9o W ST 9 S ST @ |re|

4 wEsh 3fqe wE o BT

w2

T T Sutem Al A @ R s e ¥ 0

(A) +haw 193 (B) a1 &4

(C) w294 D) 1,2, 334

(E) orgar@ us

Considered the following statements:

1.  Samudra Gupta's "Vyagrashaili' postures reveal his conquest of the West.

2. The comns of the Ashoka era give us information about his 'governance system'.

3. Onone of the seals of Satavahana King Shatakarni, a picture of a 'ship' is engraved, which is

a symbol of his victory over the sea.
4. Information about Ashvamedha Yagya is found in the coins of Kumargupta's 'Ashvamedha

style'.
How many of the statements given above are correct?
(A) 1and?2 only (B) 2 and 3 only
(C) 3 and 4 only (D) 1,2 and 4 only
(E) Question not attempted
Freafafaa Faa1 v faer S
1. TSI A GIET F TR AT O BT e g )
2. 9T g & foaeml o SUH e YEfa S A B 8
3. HIETE A SR B UE gE I S’ B R s §, S sus 99w oo @ W §)
4. FUCK & ‘AaHY il b Dl SyaHY T B A e $
forw T SwE Sl § @ e FR T ¥ 7
(A) *haw 1afw2 (B) %aw 29T 3
(C) Waw 334 (D) %aa 1,23R4
(E) orgar@ us

31eny O 20 PT.O.



43  Match List I with List II:

List I List 1T
a.  Abul Hasan al Hujwiri i Munis Al Akhaah
b.  Kuli Khan ii.  Fawaid Al Fuad
c.  Jahanara ni.  kashf ul Mahjub
d. Ameer Hassan Sijji Dehlavi iv.  Murakka-E-Delhi

T 1 %1 ferer g 11 9 St
L T 11

a. YW T I gurrerdl i MY oW sTEe
b FErEA i, HAEE oW B
c. @ & ili. ®I% IA WEIA
d.  omr =aa faesi e iv.  HTER-U-El

Choose the correct answer from the options given below:

I e T et W €@ 921 ST B agA PR

(A) a-ii, b-iii, c-iv, d-i (B) a-iv, b-i, c-iii, d-ii
(C) a-n, b-iii, ¢c-1, d-iv (D) a-iii, b-iv, ¢c-1, d-11
(E) Question not attempted / SN UsT

44  Match List I with List II:

List I List I1
a. Dimun 1. Sindh Area
b.  Makan 1i.  Mesopotamian Port
¢.  Meluha iii.  Bahrain Island
d Ur iv.  Makran Coast (Balochistan)
'Q\T'-?f 1 %1 e 11??[ 119 Fifsm:
Ll | Tl 11
a.  fa i g
b HAE WHE ii. WG fua seoms
¢ HE i, ¥ AW
d X iv.  HHE T2 (FfEE)

Choose the correct answer from the options given below:

e faw T et & o TR SO 1 99 FA:

(A) a-ii, b-iii, c-iv, d-i (B) a-iv, b-i, c-iii, d-ii
(C) a-n, b-iil, ¢-1, d-iv (D) a-iii, b-iv, ¢-1, d-11

(E) Question not attempted / IR 9§

31eny O 21

P.T.O.
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Match List I with List II:

List I

a.  Nishad

b.  Charmakar

¢.  Mchhuaaro

d.  Pukkus or Paulkus

'Q\T'-?f 1 %1 e 11??[ 119 Fifsm:
A I

a. T

b. THER

c.  HgITU

d. o9 9 umEd

1.
1i.

iv.

1.
1.
iii.

1v.

List I1
Karawar
Mehtar
Kaiwart
Aakhetak

T 10

BT
LESKE
EEE]
HTEEH

Choose the correct answer from the options given below:

Hra Rg g Ryt & ¥ w8 SO w1 99 SR
(A)  a-ii, beiii, c-iv, d-i
(C) a-n, b-ii, ¢-1, d-iv

(E) Question not attempted / ST 9§

Match List I with List II:
List I

a. Jogalthambi

b.  Devbarnak

¢.  Devarashtra

d.  Pattadakal

'Q\T'-?f 1 %1 e 11??[ 119 Fifsm:
T I

a ST

b. AT

c. gUE

d. UZZsdhel

.

(B)
(D)

1.
iii.

v,

1.
1.
iii.

1v.

a-iv, b-1, c-iii, d-ii

a-1, b-1v, ¢-iii, d-n

List II

Nashik (Maharashtra)

Bijapur (Karnataka)
Vishakhapattnam (Andhra Pradesh)
Shahabad (Bihar)

T I

Y (TETTE)

ISR (FATeH)
fasmETIE T (a1iy )

greErE (e

Choose the correct answer from the options given below:

Fr faw T foeedl | § T8 IR T4 BT
(A)  a-ii, briii, c-iv, d-i

(©)
(E)

a-ii, b-iii, c-i, d-iv
Question not attempted / START T

31eny O

(B)
)

22

a-1v, b-1, c-iii, d-i1

a-i, b-1v, c-iii, d-it

P.T.O.



47  Given below are two statements:
StatementI : The Virupaksha temple was built in the sixteenth century.

Statement II : The pavilion in front of the Virupaksha temple was built during the time of
Krishnadev Rai.

In the light of the above statements, choose the correct answer from the options given below:
(A) Both Statement I and Statement II are true.

(B) Both Statement I and Statement II are false.

(C) Statement I 1s correct but Statement 11 is false.

(D) Statement I is incorrect but Statement II is true.

(E) Question not attempted

R 3 P fw T #:

wAD . foeme Gia o i deae s § o e

FAIl : faeme Wl & grA T 429 @ P geRa T F g9a 9 e anl
IO HEA B AF ¥ T §Y, A 20 T faewedt § | @@ 39 @ a9 wita
(A) w1 3T B 11 AT &8 ¥

(B) @ I &t w11 <1 e & |

(C) w198 % AT Foe 117w &

(D) & 174 & WihT B 11 H8T ¥

® e

48  Given below are two statements:
Statement I : Bhakti saint Shankardev addressed ‘Vaishnav Dharma’ as ‘Bhagwati Dharma’,
Statement II : Shankardev's main composition is Kirtanaghosh.
In the light of the above statements, choose the correct answer from the options given below:
(A) Both Statement I and Statement II are true.
(B) Both Statement I and Statement II are false.
(C) Statement I 1s correct but Statement I1 is false.
(D) Statement I is incorrect but Statement II is true.
(E) Question not attempted

e 31w faw T E:

FFAI ;Wi Ua g RA A Ao wH' B e 9H Bew] gaiag e
FAI : IFHEE BT T DT § |

SUET B B EE T T g, e g T e § 4 @ g9 & g S
(A) ®u I of w11 <A SR ¥

(B) @ I &tk w11 31 e )

(C) w198 % AfeT Foe 117 &

(D) ®¥A 17 & AihT B [LHE ¥

€) oo

31eny O 23 PT.O.



49

50

Consider the following statements :

1.  The Puranas call the Satvahanas ‘Andhrabhritya’ and ‘Andhrajatya’.

2. The history of Satvahanas 1s especially found in Vishnu and Bhagwat Purana.

3. Names of more than a hundred kings of Satvahanas are found in the Puranas.
How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct, (D) None of the statements is correct.
(E) Question not attempted

Fratafa saet vt faame Sifw:

YT F GRIETE B TG T S FE € |

o

2. ErqareEl & 3ties faw) e wrrad goen 7 fasw w0 @ e w)

3. gUon ¥ grare & 9@ arfus et T fred ¥

fom T SuRE o ¥ | TR dem T ¥ 7

(A) W Th B T T (B) e 2 FUF T ¥
(C) @1 A B | ¥ (D) B i Bam T =_ ¥
(E) orgar@ us

Consider the following statements :

1.  Kabir Granthawali is related to Dadupanthies of Rajasthan.

2. Meera's teacher Raidas was a weaver.

3. Malik Mohammad Jayasi promoted the establishment of prayer halls like Namghar.
How many of the statements given above are correct?

(A) Only one statement is correct. (B} Only two statements are correct.
(C) All three statements are correct, (D) None of the statements is correct.

(E) Question not attempted

Frafaiad ®oat ux faem Sk

1. %R TATEE H TG TRAH 6 JEURET 7

2. W % 6 & e 4|

3. AT HigRTE SIEEl J AHET SR TS ST S 9T

fom T SuRER o ¥ | TR R T ¥ 7

(A) haw Th HEF TH B (B) e 2 FUF A ¥
(C) ot I Fa9 9 ¥ (D) ®E W FF TH T F
(E) orgara us

31eny O 24 PT.O.



51  Consider the following statements
1. The selection of the Vijayanagara site was inspired by the existence of the Virupaksha temple.
2. Viayanagara was established near the Pampadevi temple.
3. ‘Shn Pampay Namah” inscription has been found on the Vijaynagara coins,
How many of the statements given above are correct?
(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct, (D) None of the statements is correct.
(E) Question not attempted
Frefatag saat g far it
1. T A & 99 e w5 % sitae 9 Ui e
2. TURA AT % IR TS S S oA
3. oo & faeet ot A aemm T srfier e )
forw T SwE Bl § @ e FeR TR ¥ 7
(A) W Th B T T (B) e 2 FUF T ¥
(C) @1 A B | ¥ (D) B i Bam T =_ ¥
(E) orgar@ us
52 Consider the following pairs :
1. Pratihar King Bhoyj - Gwalior Inscription
2. Satavahana King Pulumavi : Nasik Inscription
3. Hun King Toraman . Eran Varaha Inscription
How many of the above pairs are correctly matched?
(A) Only one pair {(B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
1. AR@IR T W . TeTerER STt
2. WIErE T ggEE L e At
ETE i R ;U 9UE AtHeE
SR R 4 e g gRR R 7
(A) @ TH gH (B) ®a@ATH
(C) @it At g D) & & FE o g T
(E) orgara us
31eny O 25 PT.O.
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Consider the following pairs :

1. Mulfuzat Conversations of Sufi Saints
2. Maktubat Recollection of biographies of Sufi saints
3. Tazkiras Compilation of written letters

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Tt gt a¥ famme wif:

1. JEags@ - g Hal # qadd

2. WREW g EA B SiaeE e

3. wwtea : e gu v @ dwen

SO T H o fee g wd guia ¥ 7

(A) %9 TH gH (B) @ ATH

(C) &t it g (D) T B W1 g T
(E) orgar@ us

Consider the following pairs :

1. Dar-ul-Adal : Place of Justice

2. Balahar : Low class agricultural labourer

3. Malikut-Tujjar Chief of traders

How many of the above pairs are correctly matched?

(A) Only one pair {(B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Fretfeftga i o foemt Sk

1. 3o - : T =l WIH

2. FEwR . T 9ot @t iy wegy

AMFI-JE A B

S g R @ R g A g

(A) e T I (B) ¥awAgm

(C) @it At g D) T 3 = off g Y
(E) orgar@ asd

LN

31eny O 26

P.T.O.
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Consider the following pairs :

1.  Leader of the revolution in 1857 in Ahirwal (Haryana) : Rao Tularam
2. Leader of the revolution in 1857 in Faridabad (Haryana) Dhanu Singh
3. Leader of the revolution in Hansi (Haryana) in 1857 ; Imam Ali Qalandar
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

Pt gt e Fee T

1. sfezam (shamm 5 1857  Hifq & = D Ta AR

2. wiEEeE GEhEmm ¥ 1857 o wifa & S : o fiE

3. i (sfamom) & 1857 ® wifa & Jan T T HEEL
T T § @ e g g E ¢

(A) %9 TH gH (B) ®aw A TH

(C) i drii g (D) T4 B ¥rgm

(E) o ust

Consider the following statements :
1.  In 1676, Shivaji crowned himself formally at Rajgarh.
2. The Karnataka expedition was the last major expedition of Shivaji.

3. In 1678, Shivaji campaigned against Karnakata and forced Qutb Shah to pay a subsidy of one
lakh huns.

How many of the statements given above are correct?

(A) Only one statement is correct, (B) Only two statements are correct.

(C) All three statements are correct, (D) None of the statements is correct.

(E) Question not attempted

freforfirar et T ferame i

1. 1676 ¥ il e ¥ siuani® &9 9 991e a1 |

2. wARE AHAH fEmt Er SR ag St an
1678 % RSt ¥ w1 % faos i S ST FIS 16 H U A1 & H GRSl Y &8 &
for e fopam

o T SuER Fo ¥ | TR dem Ed ¥ 7

(A) %aw Th BUE T ) (B) Fad A AT TR T
(C) Tl I Faw g ¥ (D) ®E W FF TH T F
(E) orgar@ as

31eny O 27 PT.O.
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Consider the following pairs :

1. Nuh Sipihr : Amir Khusrau

2. Riyazul Insha ; Mahmud Gawan

3. Burhan-i-Ma’asir Rafiuddin Shirazi

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs {D) None of the pairs
(E) Question not attempted

Pt gt e Fee T

1. iﬁlﬁlﬂ'{ : JHIT @'ﬂ'{:f

2. Tws@Im : AT i

3. FEA-T-HIRR THISEN faromi

T T § @ e g g E ¢

(A) aw Tw g (B) Faad g

(C) i drii g (D) T @ B ¥ g
(E) orgar@ us

Consider the following pairs :

1. Basawan : Akbar

2. Mir Saiyid Ali Humayun

3. Daswant ; Jahangir

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs {D) None of the pairs
(E) Question not attempted

FrafRaa i o fEr Hir

1. =HEd : HDhdL

2. i ueE s : ?:ITC]:

3.  THEd : LY

I I A o fead g wd gaia g

(A) ad TH gH (B) ®a@ATH

(C) @it it g D) THAFE HguTE
(E) sraf@us

31eny O 28

P.T.O.
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Consider the following pairs :

1. Rani Durgawati : Gondwana

2. Chand Bibi : Ahmadnagar

3. Zuhra : Muhammad Shah

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs {D) None of the pairs
(E) Questlon not attempted

SEq qEHT S8
mﬁwgﬁﬁ%ﬁmﬁg‘naﬁgﬁﬁﬁ%?
(A) %@ uH g™ (B) Faa A g™
(C) =t <t g™ (D) 7 Y P off g 7E
E) srgefia e

Consider the following pairs :

1.  Amir-i-Dad : Law officer who carried out the decisions of the judges
2. Turkan-i-Chahalgani A group of forty

3. Barid-i-mamalik ; Head of the information and intelligence department
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

Tt gt a¥ famme wifo:

1. o-T-Ir : fattre stieerdl st st % ot @i Fromfea @ an

2. g@EA-T—aEAE : A B TR

3. ariE-u-Amias AT SR e a9 vqa

SuEd T H ¥ fea g @@ gﬁﬁm %‘ 7

(A) %9 TH JH (B) ®aaATH

(C) i At g (D) T4 B ¥ g
€)oot e

Consider the following pairs :

1.  Sur Das : Sur Sagar

2. Shankardeva ) Kirtan Ghosh

3.  Sant Tukaram Abhangas

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs {D) None of the pairs
(E) Questlon not attempted

(A) %ﬂﬁww (B) ¥awaAgm
(C) e it g (D) T ¥ B ofr o T

31eny O 29

P.T.O.
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Consider the following statements :

1. Guru Gobind Singh, the 10th guru of the Sikhs composed his verses mainly in Hindi (Braj
Bhasha).

2. The play Niladarpan was written by Dinabandhu Mitra.

3. Anand Math contained the famous nationalist song ‘Vande Mataram.’

How many of the statements given above are correct?

(A) Only one statement is correct. (B} Only two statements are correct.

(C) All three statements are correct. (D) None of the statements 1s correct.

(E) Question not attempted

Frafafaa ®oat ux fammr fifa:

1. T & 103 7%, 776 iR Rz 7 o g2 g w0 A T (39 9 ¥ @ 3

2. ey e, ey s g feran ww e

3. 9T US Y RS Urar! Mid SR Ay’ Sihe &)

fam T SudET o ¥ U fEa R E ¥ 7

(A) Il Tk BT TR F| (B) a3 o TE E)
(C) Tl I Fa= 9 ¥ (D) ®E W FaF AT ¥
(E) orgar@ us

Consider the following statements :
1.  James Mill was highly critical of Indian religion and culture.

2. William Bentinck announced in 1835, that Persian was abolished as the court language and
was substituted by English.

3. Wood’s Despatch led to the establishment of university at Calcutta, Bombay and Delhi,

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct, (D) None of the statements is correct.

(E) Question not attempted

Frafafaa Foat wx fammr Sk

1. 5 e e g ofit St & ufa stha sueraeTeTs o)

2. 1835 fafwem S =oon @, 5 S S TR A 9T & WU Y RS TF 39 WM S
@l T T

3. ww, 99E S o & Rl @ e e e % He g |

T T Sutie FuA ¥ 9 fead s e ¥ °

(A) %aw Th BUE T ) (B) Fad A AT TR T
(C) @1 A B | ¥ (D) = A B T = ¥
(E) orgara us

31eny O 30 PT.O.



64

65

Consider the following statements :

1.  The Indian National Army had fighting brigades in the name of Gandhi, Azad, and Subhash.
2. The slogans of the Indian National Army were ‘Jai Hind’ and ‘Delhi Chalo.’

3. Rash Behari Bose was not associated with the Indian National Army.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct, (D) None of the statements is correct.
(E) Question not attempted

freafirfiaa et e foreme i -

1. TG W AT H T, SR SfiT g & M | BiEie s o)

2. AR UEE S % W W B i R w9

3. v faErl 9| v o 9 @ gt T A

fam T SudET o ¥ U fEa R E ¥ 7

(A) aw TE BUE T ) (B) %ad A BT TR T |
(C) Tl I Fa= 9 ¥ (D) ®E W FF TH TEH B
(E) orgar@ us

Consider the following statements.

1.  The election to the office of the President of India is held in accordance with the system of
proportional representation by means of single non-transferable vote.

2. The value of the vote of each Member of Parliament from Uttar Pradesh is greater than the
value of the vote of the MP from Goa.

3. Electors cannot use the provision of NOTA in the election of President.
4. The provisions of Anti-defection law are not applicable in Presidential election.
How many of the statements given above are correct?

(A) 1and2 only (B) 2and3 only

(C) 3 and 4 only (D) 1,2and4 only

(E) Question not attempted

Tt Sl uT fommr wif

1. oA F PR $ G UHA ST 9 Y FAIIES TR B IO & e s $)
2. IO UL % UAE UGS % AQ B AF MGl & WG % 99 % 99 F AUF A 5
3. gata % gATa # waeran T (NOTA) & W $1 STeT 78 $T a9 ¢ |
4. IEEEE-TIUE HAA & TEEH AEAA & FAE § AT B £ |

fu 7o St el W o feom e R ¥ 7

(A) daw 1302 (B) %ad 2 9 3

(C) aw 3 &t 4 (D) %Haw 1,234

(E) orgara as

31eny O 31 PT.O.
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Consider the following statements :

1.  The writ, Mandamus can be issued against both Public Authorities and Private Individuals.
2. Mandamus can be issued to enforce a contractual obligation.

3. Mandamus cannot be issued against the Governor of a State.

4. Mandamus can be issued against a state to refund the tax collected unlawfully.

How many of the statements given above are correct?

(A) Only one statement (B) Two statements
(C) Three statements (D) All four statements
(E) Question not attempted

Freaferfias Fet T forame BT -

1. iR, dea e wiietEl st fedr fel safe I % fasg sl & o g 3

2. HenwUlaaras AU B AR HT o 0 ST 6 51 96 €1

3. 9% T % faes Aewaemd @ fean o w@an ¥

4, #zHg, AqU T § TH BT T HT B 999 A F 70 59 F g Ay fman 5 gean 31
T T Sute A ¥ O fead s e ¥ °

(A) o TH B (B) %o T B

(C) Waw 9F B (D) @t AT FAT

(E) orgar@ us

Consider the following statements :

1.  Inorder to form a new state in the Indian Union, the Parliament can amend the provisions of
the Constitution with a Simple Majority.

2. To amend the provisions of Directive Principles of State Policy, the Parliament requires a
Special Majority.

3. To amend Article 368 of the Constitution, the Parliament requires Special Majority along
with the consent of half of the state legislatures.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct, (D) None of the statements is correct.
(E) Question not attempted

Frafates sa 12 far Fif

1. I S ¥ O T U9 S % R S, G Sg9E % 919 A9 & gt A S9eT S EEi
T

2. g Hita % e gt & yraaml ® 99T w9 $ fe gag @ fafie agaa @ srasasar B g

3. dfque & s 368 # AT ST & {7 gEe @ el Tl 3 el 9 genta © aw fafie
FEAA BT AEAHAT BAT B

T2 T FuRiE U 0 Y fha meR A E 7

(A) Haw Th B TH T (B) e 2 FU9 A ¥

(C) ol I Fa9 98 ¥ (D) ®E W FF TH T F

(E) orafea ued

31eny O 32 PT.O.
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Consider the following pairs:
1.  Establishment of standards of weight and measures : Union List
2. Adoption and succession : State List

3. Betting and gambling : Concurrent List

How many of the following pairs are correct?

(A) Only one pair {(B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Freferfae et o fore i

1. TSI A9 & AT B WA e
2. T O SR SUTER ¢ Toage
Afea ofe fmfe : weed g

LN

R g e g A
(A) aw wE g (B) FawA g™

(C) i drti g (D) T & B g
(E) orafed ued

Consider the following statements :

1. Residuary subjects are the subjects that are not included in the three lists of the 71 schedule
of the Constitution.

2. According to Article 248, both the union Parliament and state legislatures can make laws on
these subjects.

3. Space technology is an example of a residuary subject.

How many of the statements given above are correct?

(A) Only one statement is correct. (B} Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted

Fretferfira FoR X R AR -

I o fwa o fa , < e @ 74 e B d i ¥ atut 96 3

2. STeRE 248 % SITEI WU THE ot T faamend 9F1 3 (srafire) Tl ut w a9 g £
3. iarE viER, sratyre faom #1 s Sarete ¥

T T Sutie el ¥ 9 fead s e ¥ °

(A) o Th BT A ¥ (B) %ad & BT TR T
(C) Tl I Faw 9 ¥ (D) ®E W FF TH T B
(E) sraf@us

31eny O 33 PT.O.



70  Match List I with List IT in reference to Constitution of India :

List I List I1
a.  Article 263 i Finance Commission
b.  Article 226 ii.  High Court
c.  Article 239 ii.  Inter-state Council
d.  Article 280 iv.  Union Territory
A W9 & @=d o ol L& g 1§ frem #ifag

A I 11
a  oT®E 263 1 o e
b TR 226 i. < e
c. AT 239 iii. efaTTeas aftg
d. or=ss 280 iv. g SR W

Choose the correct answer from the options given below

o few o foemedt § @ HE AR @ 9 Sk

(A) aiii, b ii, ¢ iv, d: i (B) a:i biii,ciii,d 1v
(C) aub1cmd iv (D) a:iv, b ii, c iii, d: 1.
(E) Question not attempted / SN U5

71  Match List I with List IT :

List 1 List I1
a. Second Schedule of Indian Constitution 1, Admmstration of Scheduled Areas
b.  Fifth Schedule of Indian Constitution ii.  Comptroller & Auditor General
¢.  Nineth Schedule of Indian Constitution 1.  Anti-defection laws
d.  Tenth Schedule of Indian Constitution iv.  Land Reform Laws
Tl [ o1 g 11§ e st
G| w11
a. WA AU B gE A i oTrea &l @ werA
b,  WIG™ Gfaam i dafadt ST i, e vd TeREdas
c. WA HEH i e Ay iii. zoeRw faadr Fa
d. AT EiEE W e SR iv. YW gur wA

Choose the correct answer from the options given below :

e fem o foemedt § @ HE AR @ 99 SR

(A) aiii, b i, civ, dii (B) ai,bucum,d: iv
(C) aii,b:i,c iv, d ii (D) a iv, b i, c: i, d: i
(E) Question not attempted / S AN U

31eny O 34 PT.O.



72

73

Match List I with List IT :

List I List I1
a.  Operation Ganga 1. Ukraine Evacuation Mission
b.  Operation Cactus 1. Relief and rescue in Nepal
c.  Operation Maitri ii.  Neutralizing attempted Coup in Maldives
d.  Operation Kaveri iv.  Sudan Evacuation Mission
T Lo g 119 e #ieg
T I T 11
a. O T i g frer frsm
b TN Faed i, U ¥ Ea T TEE
c.  SIRYH AW iii. AEE Y TEIYAE & TA B AT HET
d. T FE iv. TEM Frewd faem

Choose the Correct Answer from the options given below

o few o foemedt § @ HE AR @ O Sk

(A apbrucoid: v (B) a: i, bii, ¢ ii, d: v
(C) aii,b:i,c iv, d ii (D) a:iv, b iii, ¢ ii, d:1
(E) Question not attempted / ST U§T

Consider the following statements :

1. Public Interest Litigation is a legal action initiated in a court of law for the enforcement of
public interest.

PIL has reinforced the principle of locus standi.
Both citizens and organizations can file a PIL.

Supreme Court under Article 32 and High Courts under Article 226 of the Constitution of
India can entertain PILs.

How many of the statements given above are correct?

B

(A) 1and?2 only (B) 2 and 3 only
(C) 3 and 4 only (D) 1,3 and 4 only
(E) Question not attempted

Frafateas Fa 9T e Sk

1. i arfeest, STied & WedT & g =< | b s 3

2. WU @by ©is % g w uiafa s s

3. ST R e I MRS SIfEd ®T g §

4. AIE & HEUE $ ATEE 32 & UM ITTH A HT TR 226 F AUA T e NAETH
1 9%d $

T T Sutie Fuel ¥ O fead s e ¥ °

(A) e 1afw2 (B) %aw 293
(C) haw 3 a4 (D) %Haw 1,334
(E) orgar@ us

31eny O 35 PT.O.
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Consider the following statements :

1. Privy purse referred to a specific sum of money that was payable annually to rulers of former
princely states that signed the Instrument of Accession.

2. The payment of privy purse was a constitutional obligation before 427 Amendment.

3. The abolition of Privy Purse was justified on the ground that it stood against the principle of
egalitarianism enshrined in the Constitution.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct, (D) None of the statements is correct.

(E) Question not attempted

Frerferfiae ot T fereTe R -

1. T ot ow fafyre i # Sk wan & SS9 Jage [l o Qe & i T T 3 8 o1 5
ST T 9T S L A

2. 423 dium ST A v B W @ e Saaie are o

3. T v Al 39 s ux St off e T diaam o vl avarEns & e # faes am

T T Sute A ¥ O fead s e ¥ 0
(A) aw TE BUE T ) (B) Fad A BT TR T |
(C) Tl I Fa= 9 ¥ (D) ®E W FF T T B

® e

Consider the following statements :

1. Parliament can legislate on matters enumerated in the State List if two or more state legislatures
pass resolutions requesting the Parliament to enact such laws.

2. A law so enacted will be equally applicable to all the states, irrespective of whether they
passed such a resolution or not.

3. Such alaw can be amended or repealed only by the Parliament.
How many of the statements given above are correct?

(A) Only one statement is correct, (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E)  Question not attempted

freafirfiae et T foreme i

1. TUE Y gl § 9THE A1 U HEH S gl &, AL A A1 S o ERed 56 ST &6
Affad T &g TET B ATNT HTH TEd WIHd B E |

2. AT ST 9 TOE 9T T €Y o W6 S, O A 39 YRS @) i 6 § A e

3. THUSN % A F a0 AU G0 UM a1 FRiaa GRS e §1

4w T SutET Bu ® W fpaR FaA R R 7
(A) el Tk B TH B (B) %9 & FU T E |
(C) Tl I Fa9 9 %) (D) ®E W FF TH T F

€) ot

31eny O 36 PT.O.
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Match List I with List IT :
List I List 11
26 Constitutional Amendment 1. Reservation for EWS.

a.
b. 527 Constitutional Amendment ii.  Education as fundamental right
c. 86t Constitutional Amendment iii. Abolition of Privy Purse
d. 103 Constitutional Amendment iv.  Anti defection law
e T oor et IT & foremrr e
T I T 11
a.  26a wifgarte deled i T TER] UH % [T SRE
b. 52 Wit Heed i T @ i st
c.  86at wifqatre Gelew . T & % g
d.  103af mitaentre dave iv. SorEEa— e e

Choose the correct answer from the options given below :

o few o foemedt § @ H8 AR @ O Sk

(A ambrwve i, dia (B) a i, b:iii, ¢ ii, d: iv
(C©) arn, b, ey, d: i (D) a v, b, ¢, do
(E) Question not attempted / ST U§7

Consider the following pairs:

1.  Consolidated Fund of India : Payment from the fund can be made without Parliamentary
appropriation.

2. Contigency Fund of India : Held by Finance Secretary on behalf of the President of India.

3. Public Account of India: Executive requires Parliamentary approval to withdraw money from
this account.

How many of the above pairs are correct?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Freferat g ¢ e i

1. 9a %l giga Fif - iy 9§ gam godm fafEem & R ke snawa &
2, YA B ATHRAE T : 9Ta & Wghia @ 9w o fam e © g g
3. QA & A @RI 39 AR Y iy Fee % T tastefed B 9uEs Wi F STl g g |

ST g | © fea g wdi gufa ¥ 7

(A) ®aw TH IH (B) %@ qgw

(C) @i il g (D) T & BiE 1 g TR
(E) orgara us
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Consider the following pairs:

1.  Equal Justice and Free Legal Aid . Article 36 of Constitution

2. Promotion of Cooperative Societies : Article 43B of Constitution

3. Participation of Workers in Management of Industries : Article 43A of Constitution
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs {D) None of the pairs
(E) Question not attempted

Frafaiaa gl o fam Fif

1. oA = R e® B gere - Wi & agess 36
2. TEHIU AUl F SgE S 9hEE #7 oTee 43B
3. wEr % wEe N At B AT | i o 43A

U g A | A g wE geiad € 7
(A) %9 TH W (B) ®aw@ A g™
(C) @i i g™ (D) @ Hgwdi (E) omai@us

Consider the following pairs :

1.  Right to adequate means of livelihood : Article 39(a) of Constitution

2. Equal pay for equal work for both men and women : Article 39(e) of Constitution
3. Rught to work, education and public assistance : Article 41 of Constitution

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs {D) None of the pairs
(E) Question not attempted

Frafaiaa gl ¥ fEm Fif

1. STt % W QeEl 6l ST - Siaam #1 s3e58 39%(a)
2. y&Ed i afgmnst ST % 0 gue w6 g a9 9ad - giaae # S 39(e)
3. @M, fyren ofiT STdeIiTe TETaa 6 AT U B AT 41

ST gt § § T g edi gufaa ¥ 7
(A) o« TH JH (B) ®aaATH
(C) T I T (D) FEAgHTH (E) orElaud

Consider the following pairs :
1. Educational and economic interests of weaker sections : Article 45 of Constitution
2. Educational and economic interest of SCs &STs : Article 46 of the Constitution

3. Organization of agriculture and animal husbandry : Article 47 of the Constitution
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs {D) None of the pairs
(E) Question not attempted

FrAfaRad gt 9 fEr Hif

1. H9S e o S ud ot e S B 0geRs 45
2. SrIgrE R S Sy Seea & St ST sniie fea ; wfaam &1 oges 46
3. N TE uyuee WS - Wi # aTyesE 47

IO i A | A g wEl geiad € 7

(A) ww uH gH (B) FEa A g™

(C) T I T (D) FEAgaTH (E) orElaud
31eny O 38
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Consider the following pairs :

1.  The Vice-President of India : Article 62 of Constitution

2. Election of Vice President : Article 65 of Constitution

3. Terms of office of President : Article 59 of Constitution

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs {D) None of the pairs
(E) Question not attempted

Frafaiaa gl ¥ far Fif

1. 9 % SUAUEAA - WAL & 9wE 62

2. JUULI H A SR B AR 65

3. gt @1 NI BT : WU #1 sgess 59

(A) e Th I (B) %ae A g

(C) s it g D) FEAFUTH (E) oA

Consider the following pairs :

1. Enlargement of Jurisdiction of the Supreme Court : Article 138A of Constitution of India.

2. Conferment on the Supreme Court of powers to issue certain writs : Article 139A of
Constitution of India.

3. Civiland judicial authority to act in aid of the Supreme Court : Article 144 A of the Constitution

of India.

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs {D) None of the pairs

(E) Question not attempted

Frafaiaa gl ¥ R Fif

1. oo <A & AATH B R - qdE S & oees 138A.

2. TEed AR B FS T A B B il UEE O ¢ W Qe B s 139A.

3. Hare < B HEEAl § P B $ N0 A i =i Wi | Wi S @ e
144A.

SuEd T H ¥ fpat g g gufa ¥ ¢

(A) @ o g™ (B) Faa A g™

(C) o i g (D) ®Eigmd (E) o ue

Consider the following pairs:
1. Dengue : Caused by mosquito and spreads through blood
2. Typhoid : Caused by bacteria and spreads through water

3. Ringworm : Caused by fungus and spreads through worms
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

FrAfaraa gl 9 faar Fif

1. 37 : W=3T o HIEOT A & ST G o A1 W e £

2, WSS : SHETY) % HROT BT S SN U 6 A O e §)

3. 3 : %E® & BT SR ST BISl ° Hea §

T T R P g i E

(A) wo@ T gH (B) ®mm @A g™

(C) = it g (D) ¥ & o s oo 78
E) s e

31eny O 39 PT.O.



84

85

Consider the following statements regarding diabetes:

1. It is caused by the oversecretion of insulin by pancreas.

2. The glucose level increases in the blood.

3. The patient urinates frequently, loses weight and becomes lethargic.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct,
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

aiie % dee § Freifad Bei o€ R i

1. &% =y 2 3R & HAiis |/a F wT 3§ |

2. GA | B ® W 9 S ¢ |

3. Tl B I Y9N ST ¥, GO BH § W1 § ol gEd o §

IR HeEl Y Y R me w@ ¥ 7

(A) Faw TE BeF T ¥ (B) %aa 1 BuA TR T
(C) =t dY o W (D) g ot Fom a7 ¥
(E) sraf@us

Consider the following statements :
Statement I : The blood arteries have thick and rigid walls.

Statement II : Arteries carry oxygen-rich blood from heart to various body organs under high
pressure.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are correct and Statement-11 is the correct explanation for
Statement-1.

(B) Both Statement-I and Statement-II are correct but Statement-II is not the correct explanation
for Statement-1I.

(C) Statement-I is correct but Statement-II is incorrect.

(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted

Freaforfirar et T forame o

HA L @ e B SEmd 91 oi O Fa 8

Y 11 sl Siiaier—gad 1o $ 90 T9 W 559 ¥ 9147 & fafe oi 9 @ ot &)
IR HEAL B AE T T g9, T w1y e o 99 sa # 99d Hig
(A) w1 oI Fea-11 2 e § qen Haa-11, FoA-1 & & s 5
(B) w1 ot woe-11 < we ¥ Afee wem-11, Bam-1 o1 a2 wde e 718 ¥
(C) wA-1 98 ¥ e weq-11 T&a §)

(D) wu-177d ¥ wifer FaA-11 8981 )

®) e
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86  Consider the following statements :
Statement I: Hydrogen is considered as a clean automobile fuel for future.
Statement II: Hydrogen is the most abundant element in the universe.
In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for
Statement-1.

(B) Both Statement-I and Statement-II are correct but Statement-I1 is not the correct explanation
for Statement-1.

(C)  Statement-I 1s correct but Statement-I1 1s incorrect.

(D)  Statement-I is incorrect but Statement-II 1s correct.

(E) Question not attempted

Freafafaa saat a faem Hifam

FM I FESH B whisa F e @es siemEEd S99 % w9 S 9 S g

& 112 TEEeM e § T °TE § 9@ A a9 aw sl

YR Bl B M ¥ 1A 3¢, T Y T e W | e 39 B add By ¢
(A) wa-1 3iR Fu-11 TF1 T2l & T weA-11, FoF-1 1 T8 TWEHT &1

(B) wue-1 30X Ba=-11 I 921 & @i Baa-11, Bae-1 o1 a2 W & #|
(C) wya-1 981 ¥ Afep Faa-11 Td §1

(D) wa-17a & Wik HoA-11 T 2

€) ot

87 Consider the following pairs :
1.  Ginning : Separation of cotton fibres from seeds
2. Weaving : Making varn from fibres
3. Polyester : Melts on catching fire and sticks to the body
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

el g ¢ e i

1. e (Fifsm) : 90 9 HieT S5t B @ S
2. gE : BEEL 9 G S
3. OifeeeR : T W U e W & o srie § faus s ¥

TR gt A J et g wh g ¥ 7

(A) e TH g (B) ®uw g™

(C) @it dr g (D) ¥ & % o gw &
(E) oraita v
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Consider the following statements:

Statement I: The effect of ant bite can be neutralised by rubbing calamine solution.

Statement II: Calamine solution contains zing carbonate which 1s basic in nature.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for
Statement-1.

(B) Both Statement-I and Statement-II are correct but Statement-II is not the correct explanation
for Statement-1I.

(C) Statement-I is correct but Statement-II is incorrect.

(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted

Frerfftaa Sl T feam wif

F I: 911 5 I &6 YA Bl FOAE A & TEH T MwETaa a1 gear #)

e I Seimmge e o e ez 2o & 5 i 9y @1 2 3

U FHUAT Bl M § TEA 3T, T R’y 10 fawed § A 981 39 B 99T B

(A) wuA-1 3T FA-11 I T2 T a9 F4A-11, F9-1 5 a8 Wos §)

(B) wue-1 3R Ba=-11 I 921 & @i Baa-11, wem-1 51 981 Wew T8 £

(C) wya-1 981 ¥ Afep Faa-11 Td §)

(D) wa-17a & Wik HoA-11 T8 2|

(B) e we

Consider the following pairs :

1.  Plane mirror : Image of the same size as the object
2. Concave mirror ; Rear view murror in a vehicle

3. Convex mirror : Dentist

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs {D) None of the pairs

(E) Question not attempted

Frerfefaa gt ot femmt #if -

1. ouaa v g () #1 9t 99 SR & giaea

2. 3Ead U A W R o (9s-389) U9

3. Saw T4 : g fagm

U i A | T g HE gHIT © ¢

(A) @ wHgH (B) ®mm @A g™

(C) =t i g (D) su s figuad () oraiaad

Consider the following pairs :

1.  Quick lime : Manufacture of Cement 2. Slaked lime : Preparation of Soap
3. Plaster of Paris : Making Toys

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

Freffte gt e FeTe BT

1. hfvaed atfegs @ dHe & fmm 2. o BT AT : WIGT T

3. Rl offE O  Reddm s\

v g A A e g g ¥ 7

(A) wo@ T gH (B) ®mm @A g™

(C) =t i g (D) su s figmad (E) oraiaad
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Take few drops of onion juice, dilute vanilla essence and clove oil in three different test tubes and
consider the following statements:

1. The characteristic smell of onion vanishes upon addition of NaOH, however it persists with
HCL

2. The characteristic smell of vanilla is lost upon addition of HCl, however it persists with
NaOH.

3. The characteristic smell of clove oil is lost upon addition of NaOH in it.

How many of the statements given above are correct?

(A) Only one statement is correct. (B} Only two statements are correct.
(C) All three statements are correct, (D) None of the statements is correct.

(E) Question not attempted

AT ST ST U@ W T o T B PO S, TqAl AT THH ST AT % A Bl AbL Ferarad seat
R fmmr #ife

1.  NaOH faem at == @ fafire g e = 5wt &, swits a8 HCL % @re <= e §)

2. HCI foram wz afen @t fafire g @ < 9 %, safe a8 NaOH & @y a1 = )

3. <% 3@ NaOH fram o e fafsm g gwma 28 i &)

T T Sute el ¥ O fead s e ¥ 0

(A) aw Th BUF T ¥ (B) %ad & B TR T
(C) ot T B Té % (D) =g of Fa T8 T F)
(E) sraf@us

Consider the following statements:
1.  When pH of rain water lies in the range of 6 to 7, it is called acid rain.
2. Tooth enamel starts to corrode when pH of mouth is greater than 7.

3. Under acidic conditions farmers would treat the soil with quick lime.
How many of the statements given above are correct?

(A) Only one statement (B) Only two statements
(C) All three statements (D) None of the statements
(E) Question not attempted

freafirfiaa et e fereme o -

1. < aui 5| B pH 6 ¥ 7 % 91 2 §, 91 39 S7ata aul Hel o §
2. He @ pH 7% otfus a9 X Tl & 3999 (Gaaes) BT 3 W §
3. o aiiRufat & feam frd @ Sfaem atfeass @ st w@ ¥

T T Sutie el ¥ 9 fead s e ¥ °

(A) aw TE B T ) (B) Fad A AT TR T
(C) @1 A B | ¥ (D) = A B T = ¥
(B) orgaftaue
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Consider the following statements :

1. Alkali is a base that dissolve in water.

2. Ca(OH), is not an example of alkali.

3. Dissolution of a base in water is an exothermic process.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct, (D) None of the statements is correct.
(E) Question not attempted

foretferaa eret W feree BT -

T | YN &C® Bl 4T FE § |

2. Ca(OH), & &I IATET0 T3 )

3. el o @ W A YO U SIS Wi ¥

o

fom T SuRE o ¥ | TR dem T ¥ 7

(A) Haw T B TH B (B) e 2 FU TH ¥
(C) @1 A B | ¥ (D) B i Bam T =_ ¥
(E) orgar@ us

Consider the following pairs:

1. Acid left by bee sting of honey bee : HCI

2. Atmosphere of Venus : H,SO,

3. Antacid : Methanoi¢ Acid

How many of the above pairs are correctly matched?

(A) Only one pair is correct. (B) Only two pairs are correct.
(C) All three pairs are correct. (D) None of the pairs is correct.
(E) Question not attempted

Freaferfra gt e fore s

1.  AYTEE § H ¥ Bi5r T o - HCl

2. g% ® gigaEa  H,SO,

3. Uy AéTTe o

ST g § 9 R T i g ?

(A) HId TH JH T 7 (B) %aa AW T ¥
(€) =edt A v wd ¥ (D) & o g7 7 T 2
(E) orgara us
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Consider the following statements:;
Touching a flame is an urgent and dangerous situation and we drag our hands involuntarily. This
fast reaction is attributable to which of the following structures of the nervous system?

1 Spinal Cord

2 Motor Neuron
3. Brain

4 Sensory neuron

How many of the statement given above are correct?

(A) 1,2, 3and4 (B) 1and?2 only
(C) 1,2 and 4 only (D) 2,3 and 4 only
(E) Question not attempted

Frafateas sa 1 far ik

TRl STRIasa® ST @aes Rafa W 19 & Wyl & U, 39 A ST9AT &1 Wi| A & | 98 @ ia viatea
dtret o= @ Frafaiag § 9 68 T F IR e B v

e

AT S wifdmmr

Aitasp

L LU 1B CARCIR G )

T T Sute Al ¥ O fead s e ¥ 0

(A) 1,2,3 304 (B) %aa | 3R 2

(C) w1, 204 (D) Fa= 2, 3 IR 4

€) o

Consider the following statements :

Which of the following functions is/are influenced by adrenalin?

1. Increase the heart beat

2. More Oxygen supply to muscles,

3. Increased supply of blood to the digestive system.

4. Breathing rate declines.

How many of the statement given above are correct?

(A) 1,2,3and 4 (B) 1and?2 only
(C) 1,2and 3 only (D) 1 only

(E) Question not attempted

Frafates Fa 9T far ik

Frafatead 9 | SFE-—a1 / 9 F1 QAT 210 99 san/E $ 7

fa@ F1 9537 N AF T 8

Hig AT 1T A o ST B Syt

A T W @ B ATYR W e

9 T H FYI

T T Sute FuA ¥ 9 fead s e ¥ °

(A) 1,2,3304 (B) %aa | #iR2
(C) Haw 1,283 (D) Fa= 1

€) ot

B =

B =
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Consider the following statements :

Anaerobic breakdown of glucose in cells results in formation of which of the following compounds?
Ethanol

Lactic Acid

Carbon dioxide

. ATP

How many of the statement given above are correct?

(A) 1,2, 3and4 (B) 1and?2 only

(C) 1,2and3 only (D) 2and3 only

(E) Question not attempted

Frerfftaa Sl T feam wif

HIREHIST ¥ "ot & Taraa e (TriReE swers) F afommesd e ¥ 9 e At e s 7
ORI

e o=t

BT TEAAZS

Tdq

SR wel § R we T ¥ 7

(A) 1,2,3 304 (B) %aa | 9 2

(C) ®aw 1,233 (D) %aa 29 3

(E) o ust

Consider the following statements:

During Urine formation which of the following substances are selectively reabsorbed from the
initial filtrate?

1.  Glucose

2. Amino Acid

3. Salts

4. Water

How many of the statements given above are correct?

(A) 1,2,3and 4 (B) 3 and 4 only

(C) 1,2 and 3 only (D) 4 only

(E) Question not attempted

Fretfftad sl T fomam wif

A o1 & IR R W | B 9 gard it Frer () | a9d S g Sasii 1Y S ¥ 7
1. @

2. UHH S

3. WEm

4. w9

T T Sutie Fuel ¥ 9 fead s e ¥ °

(A) 1,2, 3304 (B) %aw 3 afit4

(C) waw 1,203 (D) Haw 4

®) e

1
2
3
4

B -
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Consider the following statements:

Which of the following plant hormones helps in promoting growth in plants?
Auxins

Gibberellins

Cytokinins

. Abscisic Acid

How many of the statements given above are correct?

(A) 1,2, 3and4 (B) 1,2and3 only
(C) 1and?2 only (D) 1 only

(E) Question not attempted

freafirfiaa et e foreme o -

Frafafga § 9 FE-91 WY FHE URY F ghe § 7T B 7

FTfera

EERE]

AT

uEsite A

T T Sute A ¥ O fead s e ¥ 0

(A) 1,2,330T4 (B) Fa@ 1,203
(C) haw 180T 2 (D) %aw 1

(E) orgar@ us

Consider the following statements:

Bw N -

Bw o=

Statements-1: The length of the small intestine differs in various animals depending on the food

they eat.

Statement-2: Herbivores needs a longer small intestine to allow the cellulose to be digested.

How many of the statements given above are correct?
(A) Both Statements are correct.

(B) Statement 1 is correct but Statement 2 is incorrect.
(C) Statement 1 is incorrect but Statement 2 1s correct.
(D) Both statements are incorrect,

(E) Question not attempted

Frafates Fa 9T far Sk

FoA-1: B oifq # G = e o I JiSH B amar & S . = ad ®

HUA-2: JIHTETUAT Bl ARG & T o A, BIET AT Bl STASAHAT 31 § |
T T SudET Fo 9 fEa R E ¥ 7

(A) 3T B T E)

(B) & 1 T2 ¥ Wtk HeA 2 A §

(C) e 1 T & AR BN 2 T B

(D) <A HuE T ¥

(E) orared ued
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